


Item Sub Parts_No. Description Portuguese Description English Qty
1 266326-2 PARAFUSO ATARRAXANTE 4X18 TAPPING SCREW 4X18 3

1REVOC POTPUS APMAT2-6199142
3 266326-2 PARAFUSO ATARRAXANTE 4X18 TAPPING SCREW 4X18 2

1FEILER NIARTSOIF OD RODEDNERP7-3217865
158-8 DRAUG DROCOIF OD ROTETORP2-9652866
10.2-2-0.1 DROC YLPPUS REWOP0.2-2-0.1 TELE OBAC2-4036967

8 191962-4 ESCOVA DE CARVAO CB-419 CARBON BRUSH CB-419 1
2REDLOH HSURBOAVRAC CSE AIUG0-5993469
1P1 KCOLB LANIMRETOLPITLUM LANIMRET5-23545601
1HCTIWSROTPURRETNI9-72515611
1GNISUOH ROTOM                          ROTOM OD AXIAC4-36405431
1ETALP EMAN 7554OB                7554OB TNEDI ED ATEUQITE9-05746841
1V022 DLEIFV022 ROTATSE4-89053651

16 266351-3 PARAFUSO AUTO ATARR CT4X36 TAPPING SCREW 4X35 2
17 210028-2 ROLAMENTO DE ESFERA 606ZZ BALL BEARING 606ZZ 1

1REHSAW NOITALUSNILOSI ED ALEURRA1-16618681
19 518557-2 ROTOR - 110V                              ARMATURE ASS'Y 115V 1

12,02,81,71 .CNI01D
1V022 Y'SSA ERUTAMRA

V022 Y'SSA ERUTAMRA

V022 - ROTOR

V022 - ROTOR9-836715

91
12,02,81,71 .CNI01D

19 REHSAW9 ALEURRA1-60876202
21 211092-6 ROLAMENTO DE ESFERA 629DDW BALL BEARING 629DDW 1

1XOB GNIRAEB                          MALOR OD AXIAC2-46405422
23 266326-2 PARAFUSO ATARRAXANTE 4X18 TAPPING SCREW 4X18 4

136 NAF                               AHNIOTNEV6-17614242
1EDIUG NAF                       AHNIOTNEV AD AIUG8-96005452

26 266020-6 PARAFUSO AUTO ATARRAXANTE PT4X12 TAPPING SCREW 4X12 2
2ETELPMOC REVEL                          LPMOC ACNAVALA8-95226172

28 266326-2 PARAFUSO ATARRAXANTE 4X18 TAPPING SCREW 4X18 2
49 EVEELS EGNOPS8 AJNOPSE AHCUB8-32042492
44 GNIR O                           4 GNIR`O LENA7-38931203
4TOOFETROPUS8-15181313
44 GNIR O                           4 GNIR`O LENA7-38931223
13X581X6 EGNOPS                         3X581X6 AJNOPSE5-83042433
1ESAB                                    ESAB2-76005443

35 211131-2 ROLAMENTO DE ESFERA 6001LLU BALL BEARING 6001DDW 1
1RECNALAB                                NICNALAB6-14131363

37 912117-6 PARAFUSO CCH M4X12 COUNTERSUNK HEAD SCREW M4X12 1
163 GNIR O                         63 GNIR 'O LENA0-01531283
1ETELPMOC DAP                              LPMOC ESAB9-42385193

40 266020-6 PARAFUSO AUTO ATARRAXANTE PT4X12 TAPPING SCREW 4X12 4
1GAB TSUD                                   ACALP4-87066110A
152 GNIR52 LENA1-20275220A
1ELZZON GAB TSUDOP ED ROTELOC ED OBUT0-36061430A
1ELZZON TSUDRODARIPSA OD ARIEBUT8-46061440A
1ETALP HCNUP                                   ACALP4-66005450A

A06 794296-0 LIXA DE PAPEL 114X100                   ABRASIVE PAPER SET 114X100 1

MODEL BO4557

15
639708-5

510264-3

635096-8
Cód. Antigo

Cód. Antigo

ESTATOR 127V FIELD 127V 1
ESTATOR 127V FIELD 127V


